Stuff to study for the final exam:

Study your first two exams.  There will be some problems similar to the previous exam questions.  

Summary of exam 1: (expect 1 1/2 pages of problems from exam 1)

· Perimeter using Pythagorean thm and fractions of circle circumfererence

· Area using triangles, fractions of circle area .  Shapes composed of simpler shapes added together or one removed from another

· Finding surface area and volumes of prisms and square-based pyramids (in the case of pyramids either the height or the slant height will be given)

· Identifying 3-D shapes as prisms, pyramids or neither, and identifying the base of an identified prism or pyramid.

· Converting units and squared units

· Explain the area formula for a rectangle (using only basic notions of multiplication), parallelogram (using rectangle formula and basic geometry notions) or triangle (using parallelogram or rectangle area formula and basic geometry notions) 

Summary of exam 2: (expect 1 1/2 pages of problems from exam 2)

· Deducing from a word problem which fraction operations would be appropriate to find the solution.  A similar problem might be to write a word problem for a given operation.

· Using bar diagrams to solve ratio problems

· Identifying similar shapes from non-similar shapes.

· using relationships about area and volume of similar shapes to solve problems

· From a numerical fraction operation, explaining the algorithm including the 3 steps: interpreting the number expression, representing with a diagram, deducing a valid numerical algorithm from the diagram and interpretation.  A possible variation on this might be to solve a given word problem using an appropriate diagram.

Since exam 2: (expect 3 pages of problems on topics we have studied since exam 1)

· For a pair of numbered spinners, find the probability of each sum when spinning the two dice.  Be able to solve such a problem using both a table and tree diagram.

· When rolling 2 dice, with any standard number of sides (4, 6, 8, 10), and with specified faces (may be the standard numbering or a different specified numbering), find the probabilities of each possible sum, the probability that one die will roll a higher number than the other, or a similar problem.  This sort of problem is best solved with a table.

· Solve a word problem involving choosing 2 or 3 objects from a specified set, either with or without replacement.  These problems are generally best solved with a tree diagram.

·  Graph a given set of data in a specified form (bar graph, circle graph, line graph, scatter plot, histogram, box plot(s), or stem and leaf plot)

· For a given set of data, identify an appropriate graph to use for the data, and justify your choice.  For most problems of this type, there may be more than one appropriate graph type.  If you choose a graph (eg a bar graph) when I believe another graph would be more effective, you can get full credit only if you justify your choice convincingly.

· For a given type of graph describe the sort of data you need in order to make that kind of graph, and you should be prepared to provide an example of an appropriate data set (you will be expected to describe the data you would collect, you will not be expected to provide mock data)


Practice problems with answers (since exam 2)

1. A.  Consider the situation where you spin both of these spinners, and add the numbers you get:
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Make a table, and find the theoretical probability of spinning each of the possible sums.  

B. For the same two spinners, consider the situation where you spin first the spinner on the left, and then the spinner on the right, and add the two numbers you get.  Make a tree diagram, and use it to find the theoretical probability of spinning each of the possible sums.

The numerical answers you should get from both A and B

P(2)=1/12

P(3)=1/3

P(4)=1/3

P(5)=1/4

2. When rolling two 8-sided dice with the numbers on them:


Die A: 1, 2, 3, 4, 5, 6, 7, 8


Die B: 1, 4, 4, 4, 4, 6, 8, 8

i. Find the theoretical probability of rolling each of the possible sums

P(2)=1/64;    P(3)=1/64;    P(4)=1/64;    P(5)=5/64;     P(6)=5/64;    P(7)=6/64=3/32;     P(8)=3/32

P(9)=5/32;   P(10)=7/64;   P(11)=7/64;  P(12)=7/64;   P(13)=3/64;  P(14)=3/64;  P(15)=1/32;  P(16)=1/32
ii. Find the theoretical probability that the sum is a prime number

(prime means that it has exactly 2 divisors: 1 and itself)

P(prime)=23/64

iii. Find the probability that Die A rolls a higher number than Die B.

P(A wins) = 25/64

3. Suppose that you have a bag with 4 red marbles, 3 blue marbles and 1 yellow marble. If you choose two marbles with replacement (you put the first marble back in the bag before drawing the second marble), 
A. What is the probability that you will get red both times? P(RR)=1/4
B. What is the probability that you will get one red and one blue? P(BB)=9/64
C . What is the probability that you will get yellow at least one time? P(at least 1 yellow)=15/64
4. I have 10 black and 6 white socks in my sock drawer.  If we make the simplifying assumption that all of my black socks match and all of my white socks match, what is the probability if  I randomly pull out 2 socks that the socks match?

P(match)=15/32

5.  [For graphing problems, see the recent worksheets]
